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2 Models Of NIN'7Y

ni7ya - Empowerment
° N> N'on

. NI7N oriented

b Provides NVT { Capacity to
effect a status transformation}

® N'"7W requires NYT but

not necessarily “Affinity” to

the N7WN- a “yya “ can
transfer his entitlement to
whomever he wishes

® Relatively independent in
activities- 777 '12'W
allowed

. 2101 easy, even K7W
1192

Acting on the “Authority of” the
N7wn- NidNo

D7V - Instrumental Representation

NDD'WN n'[' — “ Extension-Tool-

Arrow-Robot”

nYyn oriented — NION""NN

Provides N1 ornND0N
NOT NYT

N'"7W doesn’t necessarily
require NYT but may require
“Affinity” to the N'7WnN
Dependent- 7j7 '11'Y

prohibited —an ‘instrument’ of
the n7wn

710" hard, only 1'192

Acting “As” the N7wn

What is the relationship between these 2 forms of mmow?
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NI'17N —Status Transformations

OTXN ND nYynn Nd

o NVYT Driven [awyn as a “mere” o NYVYnN Driven
“symbol-catalyst- tizer”

. Sy c_’ catalyst-concretizer’] g Requires N1 (or at most

*%* Requires NVT NNDON) not N7

o T o \ .

. +* NINX'XN creating

0

¢ DTN as creator and ** DTNasa technicality in the
controller of the process orocess [ “cog’]
MI17V2) o

. «* Examples:
*%* Examples: nL'NY; AxYN; AN WY
D197 ; 'Y 'UIT]

1Y 12°0 - N1 PP 190
DTN MO0 WY1 170 01707 800 (R 0% 1w DI oTRa 0"y wyIn 220273 9o im (...
X223 .I0%Ya Swynanw X2°0 (2 .1°70 0190 DR 9390 X1 QIROW LW PYITR) 003010 793 100
RON ,°NNT PR 07RT A"A LK1 19 11°VAT AR LDONAT A0 OwA 3 L1070 0190 DR NPYID L0TRG 1D

0INT KT DINOW QIPNAT LIZRE D2IDING 3Wn X210 2"PON .3N3900 NPwY1 OX NN Rty ounws
1217 ORING 2PN ARW 791 72 ORIN DY 191 IR WA IR WIPAW LRIN 002 172 w0 L0 nn IN
5077 931 KD LaA02 MWE 2aR NET MY DWWV 170 MPNT 21T KD IRD ORI PTRa
X°9N 7707297 .00 RN K2 ORING 22PN X2 AKX NN O0025 KON ORING 0700 AKX 1191 RN
Q277 PRT 1D ,A%9M ML C3mn X2 M ... °NRn QTR PRI LNINA TRV UnwnT LRN2N
'Y RDAM AWYIT NI ORIN 90D P00 92 IRT,IX09M2 OXIN 12 KD RDW 0N .00
UMW QW 037 ,20WTR NURWA 27 I KD 0" DOV KR 1w 23 3R A0 XYY ,awvnn
w97 2"Y L [2"Y R PYTR] 2WIR NRAW MITRW 21T X1 ORIN TV XYY NONR TR3Ya

RN ,mIwna (2"Y R"Y) 0092 YRwn 197 - AW AUAWn MY X2 03 MW 102 XY 0 nwn

"9 02971] 1" K"MW POV ,N02 A7 PRY ROR) [KRN 7"7] 2"w02 vy 73R 19 1RW o2
22X 17w 9V NAWNI AWYNT XANW ROR MTHWwa? 70X PRI - (WD30W 0°179% 79T X 02a [R'Y
51 N7 10T ,AX00M2 1D ,ORIN 172 9177 KD 3", PRIAT MMHWa 1 N0 Mmhw 1R
N7 MIPA2 ORI D0aR TOW RY L 1ORD

M0 "270100” "W PV 71”3
Mpn D31, MITOWR 027 DY 200V mYWHRnwD PRI NIPHY 21T ORD 997 RN MIMOY 0707 R
RN27 XAW 1MN,MMOWI 127 YV 2°%¥2 K17 QW7 721 PRITRY DY R M Swh P




-1-10I00 2R W mow 9
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“Track A”

ni7ya - Empowerment

* ND NN'ON —Authority Transfer

° NI17N oriented

i Provides NVYT { capacity to effect a status transformation}

. N'"7Y requires NYT but not necessarily “Affinity” to the N'7WN
° Relatively independent in activities-7j7 *12'¥ allowed

° 7101 easy, even 1'191 XY

Acting on the “Authority of” the @ N7wn

AND [Subordinately]
“Track B”

D'ITUJ. — Instrumental Representation
b N]'] Dle n'l" — “ Extension-Tool-Arrow-Robot”

° NYYn oriented — Mon»ni

° Provides N11D ornND0N NOT NVYT

° N'"7Y doesn’t necessarily require NYT but may require “Affinity” to the
n7wn

* Dependent-'7|7 '12'Y prohibited —an ‘instrument’ of the n7wn

. 210" hard, only 1192

Acting “As” the N7wn

"' The r" deals with the obvious question as to why the X3 even discusses the possibility of whether w»
772y 127° YW, according to the 173°s theory of mm %W it would be impossible to even discuss the
relevance of MmYw by an 772y . The 1793 answers:
1Y °12 27172 DT INIRT P05 WINNI AT7 ARN oY IRT AR 7702y 127% MMhw 1anT 1270 PRPW2 RNORT XM
[Also 777977 *23% etc the 113 can accept the approach of the w"X1 as cited in the M3p as to why mm°ow is
inoperative i.e. even though 717577 = a 0787 112 process and “track B” operates still it doesn’t cover *7°n
X217]
Working with our assumption that the approach of the i3 best captures the actual opinion of the 7", we
now understand better the W% of the 7" - PIRAT 921 NPXX 27 PO
As an aside, a completely 7x¥1n related mwyni na process — which could be accomplished by a 3" party
would not imply the existence of formal mn>5w , which is only applicable to 27877 115 processes. The “sign”
of this would be whether it can be done by a "3 :
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niN"™vw as a manifestation of niYya

NXXIN only

Result without
ni7n or nilya
Example:
npyn (parapet),
Tevilas keilim

NiN'"v.
Irrelevant

nllﬂll Related Halachik Process

DTNXA ND

DTN as creator and controller of the process

nin'yvy Operates

2 Tracks simultaneously
D' T 'NY
ININD InlYw

TRACK A-
niwa - Empowerment
ND NN'ON -Authority Transfer
NI'7N oriented

TRACK B-
Subordinate to Track A
D72 - instrumental representation

NND"AX NT' —« Extension-Tool-Arrow-
Robot”

nYYN oriented — NMOIYNT

Non - nihva processes

nwynn nd driven nrin Non —ni'n

Example: Example:

nx"n |''7'9N
No nin*7v

R TNV X7 Q7 PWITP D201 222 71890

JPOU WY ROTW TN - 090,00 W RIW a9 - [ [79 2227] (R0InT 2971 mmhw

PR AW mRwaw Tabn - anew mown

2 TIMY X1 AT PWITR NO0A 232 TN

92 921,0°27W 172 ORI DTV 27 90 M0 [27 Maw] naRIw 2300 0TR W mbuw 1
12 ynm5 078 W MWW 187 XOR 1TAR KOX DA 1R K2M 2P0MW 713 20

12 Clearly the 72mn offered now best fits the w'"a™ cited earlier. So too can the postulated np19n» between
the 0"2m1 and M regarding?van unwa be explained in our terms.
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> We see clearly that the X3 recognizes that when dealing with mmw by ow1p nunw which is a

TwYnn o process - it presupposes that 2°w7p Nv MW must be part of a larger category of ’0w7p” that is a
QTR 12 = MYy2 process [with 7wTpn and 7827 components] — therefore the X3 can state: 13w 19w 7377 7
7awnna. Also only by postulating a “unitary” theory of mn°%w does the X3 ‘s application of 0°1°7 from one
area to another [ i.e.7mn ,PwIna ,2°wIP NU N | makes sense.



